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Please make sure that the printed pages in this question paper are 16 in number

and it contains 30 questions.
o F97-7F 7 qIET & # G 77 T4 Fe T 7Ol G2 F 5H TA-YRaH F JEI-TF G [

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
o Y[ FI7 [ TV [TGT @ FC7 @ B, JIT H HHIH 79T [i@

Before beginning to answer a question, its Serial Number must be written.
o FUC-YikiHE % & 7 Gl T/9 T SIS

Don’t leave blank page/pages in your answer-book.
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o FUCGRTHE % SaRFT FF o e TE A T SagHEAEr & g Y frar Faw T
PIC
Except answer-book, no extra sheet will be given. Write to the point and do not strike
the written answer.
o GHHE STy U To FJeT-UH T Saed i@ U To & GHANFT JeT-TH YT 3T 8 H T
g oiit dious 7o & IR 9T b T @ AT T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o FUT F¥T & FuY 7 @ g7 98 G &Y T [ J97-97 g9 q Tel 8 qer % ST 5
T F g 4 qar whwre T8 A aam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G (7397 -
General Instructions :

() @4 geT Sfard &

All questions are compulsory.
(i) TeGTeE JoT & qE [T g

Write the correct option in objective type questions.
(iii) T FoT F ofIaNG [AHT T JTET 81

Internal choice has been provided in some questions.

(v) &% F97 B oIF 3GH G790 77 8

Marks of each question are indicated against it.
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gos — 3
SECTION - A
(Merp fomirr)
(PHYSICS)
1. g & -8 Y 98 S § 7 1

Which gas is filled in electric bulbs ?

2. frfefed a7 & @ %o ¥ : et (A) ol &R (R), 999 & F=9 R T Sugw faeed

B T HQ GL I AT 1
SRR (A) : A I F AT Bihd GolE Bl THREING B AUedl W WL &Y 9 HHT
HA Bl GHAT B B

HROT (R): 39 e Hl GUEINH & ] & &9 § I A &l
(A) (A) 3R (R) 3 9 & q&1 (R), (A) ¥ T& == B

(B) (A) AR (R) I~ 9 &, AT (R), (A) P T& IR T B
(C) (A) T B, QAPT (R) TTH B
(D) (A) 79 ¥, Al (R) T B

The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : The eyelens has the ability to focus clearly on the retina by
adjusting its focal length.

Reason (R) : This phenomenon is known as power of accommodation.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
2107/(Set : B) P.T.O.



(4) 2107/(Set : B)
3. RpEl U @ o9 AR Feall @ g0 W @S &, A Sidfe "eg der @ did g B

GHed: g ® ’
(A) Fad TIIA (B) Bdd STaad
(C) Haq 3ad (D) a1 gHad STgdr 399

No matter how far you stand from a mirror, your image appears erect. The

mirror is likely to be :
(A) only plane (B) only concave

(C) only convex (D) either plane or convex

4. frdl RET 9 &1 oTgAdis 220 V @& 100 W &1 9@ 6 110 V W JEIA & &, a9

T% ENT IUYE ik feert il & ¢ 1
(A) 100 W (B) 75W
(C) 50W (D) 25W

An electric bulb is rated 220 V and 100 W. When it is operated on 110 V, the

power consumed will be :

(A) 100 W (B) 75W
(C) 50W (D) 25 W
5 e T T BIeT T B 1

............. is the small unit of electric power.

6. T FHivA & 78 T -Tel [eHleAN ? 2

Explain why planets do not twinkle ?
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7. T =® & g 6 dRE W FER Ear @ ? 2
On what factors does the resistance of a conductor depends ?
8. (a) foth 83 ga% & Il oY gabig & YE difey 3

Draw magnetic field lines around a bar magnet.

(b) o o YwE & B @ T R

Write any two properties of magnetic field lines.

9. M & g I TR HIST g HN SI AE=H azdl N9 & 9 & AJaR &= & 4
qf H FE qHHT T 3

(A) R=V/I (B) R=1/V

Define Ohm's law. State SI unit of resistance. Select the correct equation of
resistance in accordance to Ohm's law from below options :

(A) R=V/I B) R=I/V
10. (a) [5Gl d9 & 1 SEACI A Bl TR i 2
Define 1 dioptre of power of a Lens.
(b) 2 m BIHE T A HFeTT G Dl & S i 1
Find the power of a concave lens of focal length 2 m.
(¢) = 9 ford - 2

Write the following formulas :
@) oF g

Lens formula
(i) &Y G

Mirror formula

2107/(Set : B) P.T.O.



(6) 2107/(Set : B)
rgar

OR
(2) OFdE SUOT & H& BihH i GRE frfm 2

Define the principal focus of a concave mirror.
(b) TG U7 H A ST S 6T T T G AT Ffed T b 1
Name a mirror that can give an erect and enlarged image of an object.
() BW awml § Iaq UV Pl U9F-39F qUOT & @9 H qAA | ad § ? 2
Why do we prefer a convex mirror as a rear-view mirror in vehicles ?
gle - §
SECTION - B
(e o)
(CHEMISTRY)

11. STEG ANER B TS 3o F41 oiar & 7 1

Why do ionic compounds have high melting points ?

12. Frfoiad 97 & @ HoF § ¢ A (A) 3 BT (R), 999 & A9 R T Iuga e
H T B gL IAL AT 1

TR (A) : BART IS BRFITAND ST I~ Bl &l
HROT (R) : SSRGS T QI [Ieqd @l Hiel Y adl ol
(A) (A) X (R) I & & T (R), (A) F T& AR &
(B) (A) 3R (R) I 97 &, qAfdT (R), (A) F T v T2t 2l
(C) (A) T ®, AfFT (R) o1& Bl
(D) (A) 3THHE B, WAlEA (R) T ol
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The question below consists of two statements : Assertion (A) and Reason (R),

answer the question by selecting the appropriate option given below :
Assertion (A) : Our stomach produces hydrochloric acid.

Reason (R) : Hydrochloric acid turns red litmus blue.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

13. @8 o W Y SEGHAINRE ST S & &1 Bl & ¢ @& Sk &l gy : 1
(A) BEZOH T T HAE FAES Sl &l

(B) TN T TG MR eRgiEe vl &l
(C) g orafeam FE B

(D) STERA @9 g S &9 ol

What happens when dilute hydrochloric acid is added to iron filling ? Choose the
correct answer :

(A) Hydrogen gas and iron chloride are produced.

(B) Chlorine gas and iron hydroxide are produced.

(C) No reaction takes place.

(D) Iron salt and water are produced.
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14. THEHH H Ube d Fb@ & I gpawiiaar § F9M &g o9 &1 3UE H4T 7 1
(A) Ui iR e (B) EgioM I WA
(C) argAE & § & (D) SUFd g«

What measures will you take to prevent the 'Namkeen' from getting rancid after
removing it from the packet ?

(A) Add anti-oxidant
(B) Fill Nitrogen gas
(C) Store in an air-tight container

(D) All of the above

16. s o1 1 VARG G AR I6H & ST fordl 2

Write the chemical formula and two uses of bleaching powder.

YqT

OR

(2) S & TgURAT F oF, TR FIER I el @ ¢ 1
Why do acids not show acidic behaviour in the absence of water ?
(b) SETHIMIHTT ARRAT &1 & 7 T S At 1

What is neutralization reaction ? Give an example.
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YT

OR
T SITERT F97 -

Competency Based Question :

Al B PO The [Gaad d T SABRA § Fe + CuSO, — Cu+ FeSO, , & & 5d ¥

PIT-41 [Iohed SfiiPpd X STIARE IS B §ef & § a9l © 7 2
forere e Sifedigd ©r S
A Fe Fe
B Fe FeSO,
C Cu Fe
D CuSO, Fe

In the reaction of Iron with Copper Sulphate solution (CuSOy) :
Fe +CuSO4 — Cu+ FeSOy4

Which option in the given table correctly represent the substance oxidized and
reducing agent ?

Option Substance Oxidized | Substance Reduced
A Fe Fe
B Fe FeSO4
C Cu Fe
D CuSO,4 Fe
17. GASH SRR @ T 1 GEE & ¢ THRMEG FHIBT |ied g% JaTeXe Al 2
What is combination reaction ? Give one example with chemical equation.
18. AifeT, SffeicH @ AR & Y sadg g d@emT farau 3

Write electron dot structure for sodium, oxygen and magnesium.
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TEEE OEE & R W A T FEge § His di7 HAR Il 3

Write any three differences between metals and non-metals on the basis of their

chemical properties.

19. = AR % 18 Ted Tsa-THIntYT [T qo S6s a6 i 6 fofee, i ;3

Write word equations and then balanced equations for the reaction taking place,

when :

(a) TJ THINE AT AMER & & ao ARRR F &l

Dilute sulphuric acid reacts with zinc granules.

(b) Y CTRGEIND TR HIRE Ugel & arY SATHBRAT BT ol

Dilute hydrochloric acid reacts with magnesium ribbon.

(c) G eEgERING o1 A8 & a9 & A1 ATHBRAT B ol

Dilute hydrochloric acid reacts with iron fillings.

20. (a) BESTHIHCT F1 8 ? TR SN T[T F1 8 ? 2
What is hydrogenation ? What is its industrial application ?
(b) |G I TS FehdT Bl BHATA Tl 3

Explain the mechanism of the cleaning action of soaps.
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Srgar

OR
(2) FET & A YOTEH DE-9 &, PBFH BROT SAR IR SR HEA Al Hl AT de&
|G 2

What are the two properties of carbon which lead to the huge number of
carbon compounds we see around us ?

(b) A T THRME OTEH $ ER W A T TAAIEH O § ST & SRR H4T ? 3

How can ethanol and ethanoic acid be differentiated on the basis of their
physical and chemical properties ?

Tar
OR
JITeT STEIRT F97 -

Competency Based Question :

T2 & 7 difee 99 @ R ™ g% et @

Y e o
1. A "A" B ATH B9 A @R H UREE & ®9 H IWT fpAT S B
2. "A" TSI & W STERAT HY Wiol WY At A "B ST 8
SUFT Hhell & MER W 7 Uil & I IR
(i) AR "A" qE AR "B B wE=H 1
(i) & fE "A" AR AE B oAy AAEHA B B, A DE-G W @S eEn 7
TR FHIHT o 2
(ili) T F & SwEn R 2
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The table given below shows the hints given by source :

Sr. No. Hints
1. Compound "A" is widely used as preservative in pickles.
2. "A" reacts with Ethanol to form a sweet smelling compound "B".

Based on the above hints answer the following questions :

(i) Identify the compound "A" and compound "B".

(i) Which gas is produced when compound "A" reacts with washing soda ?
Write chemical equation.

(iii) Write two uses of Ethanol.

qles - 9
SECTION-C
(cftr fortrr)
(LIFE SCIENCE)

21. HE-I T FH EE 0 B 10 TASH 3 STETHar ekl & 7 1

Which gland requires iodine to produce hormones ?

22. frfefed a7 & @ %o ¥ : aifted (A) olR #R1 (R), 999 & 9= R T Swgw faeew

H T B gL IAL AT 1
AR (A) : URY § d H gha B RO SME B &l

B (R) :

RreRfeM @ TRy 2N &, St a1 @ ghe § TeE &l

(A) (A) ¥R (R) I & & T (R), (A) H T& FEA 2

(B) (A) 3R (R) I 6 &, Al (R), (A) H Tel WA T&i 2l
(C) (A) 9F &, AfFT (R) 39 Bl

(D) (A) 3TFH T, AlBA (R) TA Bl

2107/(Set : B)



(13) 2107/(Set : B)
The question below consists of two statements : Assertion (A) and Reason (R),
answer the question by selecting the appropriate option given below :

Assertion (A) : Hormones are responsible for the growth of stem in plants.
Reason (R) : Gibberelin is a plant hormone which helps in stem growth.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

23. 1 ¥ § B9 AFg § X S GF H 9T § 7 1
(A) SfeE (B) T
(C) haTieH (D) (Esanfest

Which of the following is a part of the male reproductive system in human

beings ?
(A) Ovary (B) Uterus
(C) Vas Deferens (D) Fallopian tube
24. F=1 8§ | FF @R B 78 e ? 1
(A)  HFTT H [ABH
(B) THSI FH U
(€C) T
(D) SR &t
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25.

26.

27.

28.

(14) 2107/(Set :

Which of the following is not environment friendly ?
(A) Paper bag

(B) Wooden stick

(C) Balloon

(D) All of the above

FARGARHE (CFC) T TR oo A H THAM Tga o

Chemicals like CFC harms the ............... layer.

PRI Td e W i T i o 7

What is the role of the seminal vesicles and the prostate gland ?

gfcrercht feam & ARaes @& @@ qivE § 7

What is the role of brain in reflex action ?

3TeE
OR

B Uh SRS @l T H gaT by o ?

How do we detect the smell of an agarbatti ?

Hed & SART | He G ol o b AR @l E|as 89§ G eld § 7

How do Mendel's experiments show that traits are inherited independently ?

2107/(Set : B)
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OR

M, &Y Ao A N H FheoT FhaR Tt i a qY | HA /-

Plant with round, green seeds was crossed with wrinkled, yellow seeds plant :

(a) oW Hafd § ST @ SRy 9 T HEw BN 2
What will be the shape and colour of seeds in Fi1 generation ?

(b) GO | QM| 1

Show the crossing with diagram.

29. I & AJeH FIC H AHRA & T 3

Draw a labelled diagram of the longitudinal section of a flower.

30. (a) AR AMRE ¥ =T % FT GHH Bl © 2

What is the role of the acid in our stomach ?

(b) it o & T | 3F H TS & 999 S| B M S| 3

Show the movement of water during transpiration in a tree with the help of

a labelled diagram.
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() TEINS DT TG frsEat Qe § o ofc} © 7 2

What are the differences between autotrophic nutrition and heterotrophic

nutrition ?

(b) HME UEA GF B O IR 3

Draw the labelled diagram of human digestive system.

2107/(Set : B)



